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=1800rpm — n, =(1-s)ng =1710 rpm

Z= Xy ll (%2+ jx'z) =15+043] —> Zj,=Z+n+ jx=162+0.63]Q

V =52 =120(V)
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I, = =64.34-25]=69/-21.25
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Py = 3f2 12 =3*Re{Z}*17? =3*1.5%69% = 21.4 kW
S

P, =(1-5s)P,, =20.33kW

Py =P, — Py =19.93 kW

P, =3VIcos¢g =3*120*69*cos 25.21° = 23.15 kW

~ Fout 100 - 86%
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Z,=-2 25 2 _33.15j*(40+1.06j)
Lz_i_(jxim_i_jﬁ) 40+ (33.15+1.06)
2s 2 2

=15.87+19.58

ij *( r2l + JXIZ)
2 2(2-s) 2 _ 33.15j*(1+1.06 )

Z, =% 8) 2 ) 0.94+1.05]
I, +(Jxm N sz) 1+(33.15+1.06)
2(2-5) 2 2
Zi,=26+31j+Z; +Z,=19.41+23.73]

I =~ —227-278j =359/ ~50.7°
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PF =cos @ =c0s50.7 =0.63

P =V *1 *PF + P, = 272.8(W)

Pyt =Ry * I =15.87*3.59% = 204.5(W)
Py = Ry * 15 = 0.94*3.59% =12.1(W)
P = (L—3)*(Py — Pyp) =182.8(W)

Pyt = P — Pot =182.8—20 =162.8(W)

ng = 1204 60 =1800(rpm)

n, = (@—-s)ng =1710(rpm)

T= Pout _ 162.8 =0.91(N.m)
o, 1710*27/60
P

5 =~ %100 = 59.68%
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PgL =140 =13, -(r+1,)=5%(29+1,) — 1, =27Q

ZgL :\I/izs.m
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ZéL:x§L+r§L - 8.62:(2.9+2.7)2+(x1+x'2)2 - x1+x'2:6.53

X =Xp =326Q w)ls Xp 5 X o3 4l 28 b

ro/2(2-s)
0.5 jx ’2
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Py =125=15, (L +0.25r, +1,y) — [ +0.25r, + 1 = Ry =10.2Q
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Z,%L = x,%lL + r,\2”_ — 34.3%= R,%,,_ +(0.5%, + X% +0.5x'2)2 - Xy =55.72Q
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Prot = INL . I’rot =81.2W
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. _ 18001730
1800

=0.039

135 .
27.86i( 2> 1163
10,039 )

27.86] + 1.35
0.039

Ly = =13+16.79j

+1.63]

Zp, =0.61+1.55]

Zin=h+jxq+2Z; +Z,=1651+21.6j=27.19-52.6°

lin =4.41£-52.6° — P, =V-l.cosp=322.8W, PF =cosp=0.61
Pagt =Ry - 15 =252.8W

Pagh = Rp - 117 =11.86W

P = (1—5)(Pagr — Pagp) =231.87W

Pout = Py — Prot =158.93W

7= 670 | Ty =" 084N -m
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